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an = tan

(

(n + 2)π

3(3n2 + 2)

)

Ã#Ä &7� n ≥ n0 = 0
<

Å � ÆD� A39F$B�#"%AD��$BÇ Ä "%A�"%Æ3ÆD� AD�ÉÈ Ä &7�²Ê�� A3��� ��ÆD� Ã E�$BÊ�� A3��� ��ÆD�F&�$B�8E!� ÆD� A39F$B�#"%ÆD&²ËLE!� ÇBÇ»"�CDH Ä>Ä �>CDC3$'&7�8� {an}n≥n0� Ä "%Ç Ä &7Ç»"%AD� Ã CD�.�>C3$'CDÆD� Ã lim
n→+∞

an
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inf

n≥n0

an Ã sup
n≥n0

an
� Ã CD�.�>C3$'C3ÆD&7�8& Ã min

n≥n0

an Ã max
n≥n0

an
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(�<LÂ Ä A3$BÊ�� AD��$B�½Üv&7A39)" Ä "%A3ÆD�>C3$»"%�#"�Ç'�.A�"7E�$ Ä $GÆD� A3ÝI��E!� Ç��²H!9:� AD& Ä &79FÞ!Ç'�>CDCD&
w = 3

[

i −
√

3√
3 + i

− 1 +
√

3i

2

]
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à < Å � ÆD� A39F$B�#"%AD��$BÇ2ÇBH8&7��&F���>&79:� Æ3A3$ Ä &�E!� ��ÇB$
z ∈ C

Æ�"%ÇB$ Ä�á � Re[7z − 8z − 3Imz + z2 + zz] = 0
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� < 6 "%Ç Ä &7Ç»"%AD��$BÇ�ÇB$B9F$BÆD��E!� ÇBÇ»"FCDH Ä>Ä �>CDC3$'&7�8� lim
n→+∞

(n7 + 3 + sin2(n!))(n(14/n7) − 1)

log[(n + 5)!] − log[(n + 3)!]
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f

AD�I"%Ç'��E�$2Ê7"%A3$»"��!$BÇ'��AD�I"%Ç'��J

f(x) = x −
√

ex + 3.
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� < 6 "%Ç Ä &7Ç»"%AD��$BÇ�ÇB$B9F$BÆD�

lim
x→0

4[cos(2x) + sin2( 2√
2
x) − 1]

x(e2x − cosh(2x) − 2x)

Ì�ÍÏÎIÐQÑ�Î>ÒIÓÕÔ�Ð@Ö@×�ÒzÍ£ß8ÙXÚ

*�<LÂ�$»"
f : R −→ R

Ç»"FCD� ��H8� ��ÆD�0ÜÏH!�!Ý>$'&7�8��J

f(x) =











(x − 7)

arctan(x − 7)
+

ex−8 − 1

(x − 8)2
CD�

x 6= 7
�

x 6= 8

e−1 CD�
x = 7

&
x = 8
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f : R −→ R
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f(x) =











−1
C��

x < 1

(x − 1)
√

x − 1 −
√

|x − 2| CD�
x ≥ 1
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